EXTRA PROBLEM

o Find the volume of each. When | OK your answer,
move on to the next.

300 cm

-
L 30cm

30cm

N

1) V2 7854 cn’

2) V% 53%97.9in°
3) VA523.6 W

H) Va26l 50T an’

5) V= 1500cm®
6) AV 169.6 cm?
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MORE EXTRA PROBLEMS

7) The volume is 2268 cm?. Find the height.

V=3lwh
226‘6 - %‘?ISh
226%=08h a1 :
e / a=h " |
8) The circumference of a circle is 6 feet. Find -
the area. Write it as an exact answer.  &ff 2 A=ur?| |
CFamrr A A=m3? i

3ar S
?) A ball with a radius of 4 cm is inside a cube. T
The ball touches all sides of the cube. What is | --&3 ||
the volume of the empty space inside the \\_/j

cube?¢ L - |

\/=Culve-5f)\efe
V= §3%- Loy’

Vx512-268.1
V&2 "B.Olcm’
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